8. PROBLEMS ON AGES

—— === =

SOLWVED EXAMPLES

Ex. 1. Rajeev'’s age afier 15 years will be 5 times his age 5 years back. What is the
presant age of Rajoav ? {Hotel Management, 2002)
Bol, Lot Rajeev’s present age be x yvears. Then,
Hajeev's mage after 15 years = (x + 15) years.
Rajeev's age 5 vears back = {x - O} vears,
4+ 18 =B(x=8) = r+1i=08x—25 &= dx=dd & x=10
Hence, Rajeev's present age -~ 10 years.
Ex. 2. The ages of two persong difTer by 18 years. If & years ago, the elder one be
3 times ag old as the younger ooe, find their presant ages, (A.A Q. Exam, 2003)

Bol. Let the age of the younger person be x yoears.
Then, age of the elder person = (x + 16} years.
Jix=Flmix+ =6 & Bx=18wx+ll = vyl = x= 14
Hence, their present ages are 14 vears and 30 years
Ex. 3. The product of the ages of Ankit and Nikita is 240, If twice the age of Nikita

is more than Aokit's age by 4 years, what is Nikita's age ? (5.B.1.FO. 1998}
Bol., Let Ankits age be £ vears. Then, Nikita's age = % FUATH,
h%—::i @ 4B0-:" s dr e e dzr-480 = O
e (reir-2N=0 = x=20
Heanoe, Nikita's age = .:%l: vears — 12 years.

Ex. 4. The prosent age of a father iz 3 years more than thres times the age aof his
son. Threa yoars hence, father's age will be 10 years more than twice the age of the son.
Find the present sge of the father (8.8.C. 2003

Bol. Let the son's present age be x years, Then, father’s presant age = (3x + 3) years
& Bx+3+3N=2(x+3+10 e Ix+G6=2x+ 16 e x= 10
Hence, father's present age = (3x + 3) = (3 = 10 + 3) vears = 33 years.

Ex. 6. Rohil was 4 times as old us his son 8 yeurs ago. After 8 years, Rohit will be
iwice as old as his son. What are their present ages 7

Sol. Lot sons age B vears ago be x years. Then, RKohit's age 8 years apn = 4x years.

Son's age after 8 years = (x + B) + 8 = (x + 16) years.

Rohil's age dfter B years = (dx + B) + 8 = (4x + 18) yearz.
L Z(x+ 18 =Hx+ 16 = 2x=16 ™ x=4

Henee, son’s present age = (x + 8) = 16 vears.

Rohi’s present age = (4x + B) = 40 years.
Ex. 6. One yoar ago, the ratio of Gauravk and Sechink age was 6: T respectively.
Four years hence, this ratio would become 7 : 8 How old is Sachin ?
(NABARD, 2002)
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Bal. Let Gaurav’s and Sachin's ages one year age be 6x and Tx yvears respectively Then,
Gaurav's age 4 years hence = (8 + 1) + 4 = (fx + 5) years
Sachin’s age 4 years henee = (Tx + 10 + 4 = (Tx + §5) vears.
8549 nl oe 8062+ Bm TR +5 = 485440 = 495435 4 &5 &
Tx+5 B 3
Hence, Sachin’s pressnt age = (Tx + 1] = 36 years.
Ex. 7. Abhayk age after six years will be three-seventh of hiz facher’s age. Ten years
ago, the ratio of their ages was 1 : 5. What is Abhays futher’s age sl present ?
Sol. Let the ages of Abbay and his father 10 years sgo be x and 5x vears respectively Then,
Abhay's age after 6 years = (x + 100 # & » (x + 1G) years.
Father’s age alter & years = [bx + 101 + 6 = (5% + 168) years.

5
'[:+IE‘.|-;:_.'11+IH-1 = Tlr+16) =« F(0x+18) e Tr+ll2 = 18x+d8

= Br=b = x=§
Henece, Abhay's father's prosont oge = (5x + 10) = 50 years

(OBJECTIVE TYPE QUESTIONS)

Directions : Mark («") againgt the correct snswer :
1. Sachim is FOUNEEr than Rahul 'b";.' 4 EArs, If thetr AgEs Are i the rn:pm:l"[w ratin af

T : 8, how old is Sachin 7 (Bank PO, 2008)
{&] 16 FEATE (h 18 e {ed 2R ¥rears
(di Cannot be determined (el Mome of these
£, The ratio between the present ages of P and @ 1= 6 ; 7. [f @ 15 4 years old than P, what
_will be the ratio of the ages of F and Q after 4 years 7 (5.B.LEO, 1998)
{a) 3 ;4 b a:5 (ch 4 : 3
id) Data inadequate {g) None of these

3. The ratio between the present ages of P and Q is 5 : 7 respectively. If the difference
between Q' present age ond Pz age aller & years is 2, what iz the tofal of s and

Qs present ages 7 (Bank P.O. 1598)
(a) 48 wears () 52 wears (ch 56 wears
{dl Canmot be determined tel None of these

4. At present, the ratio between the ages of Arun and Deepak is 4 © 3. After 6 vears, Arun's
age will be 25 vears, What is the age of Deepak at present ? (R.E.B. 2003)
{a} 12 years {b) 15 years (el 1H;jjg.rﬂn {d) 21 years

B. Present ages of X and ¥ are in the ratie 5 : 6 respectively, Seven years hence this mtio
will become 6 : 7 respeetively What is X's present age in years ? (Bank BO. 2003)
(a} 35 (b 42 {ch 49
(dy Cannot be determined (e None of these

8. Present ages of Sameer and Anand are in the ratio of 5 : 4 respectively Three vears
hence, the ratio of their ages will become 11 : 9 respectively What i Anand’s present
#ge in years 7 ) (R.B.I 2003)
[a) 24 (by 27 (e} 40
idl Cannot be determined (et Wone of these
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CQuantitative Aptitude

Bix years ago, the ratio of the ages of Hunal and Sagar was 6 ; 5. Pour years henee, the
ratio of their apges will be 11 : 10. What is Sagar's age at present 7 (Bank PO, 2004)
{a) 18 yeors (b 18 years {g) 20 years

{d} Cannot be determined (e None of these

The total of the ages of Jayant, Prem and Saransh is 93 vears. Ten years ago, the ratio
of their ages was 2 : 3 : 4. What is the present age of Saransh 7

{a) 24 years (b)Y 32 years {e) 34 years (d} 38 vears
The ratio of the present ages of two brothers is 1 : 2 and & years back, the ratio was
1: 3. What will be the ratic of their ages after 5 years 7 (8.5.C. 2002)
(=) T4 (by2:3 (&3 :8 dy5:6

Hitesh is 40 years old and Ronnie is 680 years old. How many years ago was the ratio
of their ages 3 : 57

(@) 5 years (B 10 years (c) 20 years (d) 37 years
The ratic of the father's age to hiz son's age is 7 : 3. The product of their ages is 756,
The ratio of their ages after 6 years will be :

{a) 5:2 (g1 - fey 11 : 7 (dh 13 : 9

The present ages of thren pereons are in proportions 4 @ 7 = 9. Eight years age, the sum
of their ages was 56. Find their present ages (in vears), (IL.M.T. 2002)
(=) B, 20, 28 (b)Y 16, 28, 36 fc) 20, 35, 45 () Mone of these

The ratio of the ages of a man and his wife is 4 : 3. After 4 years, this ratio will be
9 : 7. If at the time of marriage, the ratio was § : 3, then how many years ago were
they marvied ?

lal B years (LY L0 years (e} 12 years idl 15 vears
The ratio between the school ages of Neelam and Shaan iz 5 : 6 respectively. If the
ratio between the one-thard ape af Meelam and half of Shaan's agn ih: 'ﬂ, than what

is the school age of Shaan ? (Bank PO. 2002)
{a) 25 years (b 30 years (c} 36 years
{d) Cannot be determined (@ MNone of these

The ratio between the prosent ages of A and B i 5 ; 3 respectively The ratio between
A’s age 4 vears ago and B's age 4 years henece is 1 : 1. What is the ratio between A's
age 4 yvears hence and B's age 4 vears ago 7 (SIDBI, 2000)
(@) 1:3 W 2:1 @ 3:1 (d) 4 -1 (e} MNome of these
Ten years ago, A was half of B in age. IT the ratio of their present ages is 3 : 4, whai
will be the total of their present ages 7

{a) 20 years (b 30 vears () 45 vears (d) Mone of these
A i two years older than B who is twiee sz old as C. If the total of the ages of A, B
and C be 27, then how old is B 7 (Hotel Management, 2003)
(o) T {8 {c) 8 (d) 10 (et 11

A man ig 24 vears older than his son. In two years, his age will be twice the age of
his son. The present age of the son is . (R.R.B. 2003)
{a) 14 vears [(B) 18 wvears (&) 30 years (d) 22 years

Eighieen years ago, a father was threse times as old as his son. Now the father is only

twice as old as his son. Then the sum of the present ages of the son and the father
i {8.8.C. 2003)

{a} 54 (W 72 (el 108 e 10A

A person's present age is two-fifth of the age of his mother After 8 years, he will be

one-half of the age of his mother How old i= the mother at present 7

{a) 32 vears [B) 36 vears () 40 vears id) 48 years
(IENOLL. 2001)
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F1.

Tanya's grandfather was 8§ ticses older to her 16 YOOrE g He would ba 3 Limes of
her age 8 years [rom now, Eight years ngo, what was the ratio of Tanya’s age to that

of her grandfather 7 (8.5.C. 2003)
(e] 1:2 (b 1: 4 ici 3-8 L) Mone af these
The age of father 10 years agn was thrice the age of his son_ Ten years hence, father's

age will be twice that of his son, The ratio of their present ages is :
(a) & ;2 (b} 7 :3 (c) 9:2 (et 13 : 4
(L.LC.A AO 2003)

Four years ago, the father’s age was three times the age of his son. The total of the
ages of the father and the sen afler four years, will be 84 vears. What iz the father's
ape gt present ?

{m) 32 years (b} 36 years (2] dd yenrs

id} Data inadequate (el None of these

One year ago. Promila was four Limes as old as her daughier Sakshi. Six yvears henee,
Promila's age will execed hor daoughter's age by O years. The ratio of the present ages
of Promila and her danghter iz ;

Ly g (b} 11:3 (e 12 8 fdd 18 : 4

The sum of the present ages of a father and his son is 60 years. Six years ago, fathers
age was five times the age of the son. Afler 6 vears, son's age will be !

(2} 12 years (B 14 vears (¢} 18 vears {d) 20 vears

(B.R.B. 2000)
The total age of A and B iz 12 years more than the total age of B and C. C iz how
many years younger than A 7 (BIDBEL, 2000)
i) 12 (b 24 (¢l C is elder than A
idh Data madequate el None of thess

Q iz as much vounger than K as he is older than T. If the zam of the ages of B and
T ia 50 years, what is definitely the difference between B and Qs age 7

ta} 1 year {b} 2 vears fe} 25 vears
{dr Data inadequate ¢ Mone of these (Bank F0. 1909)

The age of 2 man is three times the sum of the ages of his two sons, Five years hance,
hiz age will be double of the sum of the ages of his sons. The falher's present age is ;

L&) 40 years (b] 45 wears () 5O years {d) 55 wears

The sum of the ages of a father and his son is 45 years. Five vears agn, the product
of their ages was 34. The ages of the son and the father are respectively :

(x) 6 and 39 (bl T and 38 (el 9 and 36 {d1 11 mnd 34
Rajan got married 8 years ago. His present ago is E times his age at the time of his
marriage. Hajan's sizter was 10 vears vounger to him of the ttme of bz marriage. The
age of Rajan's sister is ¢ (UPSC. 2008)
(g} 32 vears (b} 48 years (¢} 38 wears (ah 40 years
The sum of the ages of 5 children born at the intervals of 3 vears each is 50 yeuars.
What is the age of the yoeungest child 7 (B.5.C. 2000)
ra) 4 yoars (b} B vears (g} 10 vears (al MNone of thess
Father is aged three times more than his son Ronit. After 8 years, he would be Lao

and a half times of Ronits age. Afler further B vears, how many times weould he be
of Honit's age 7 (CB.I 1998)

jal 2 times (il 2% tirmes (& 5'.% times (dl 3 times
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Cuantitatve Apbitude

The difference betwoen the ages of two persone ig 10 years, Filteen penra age, the alder

one wis twice ag old az the vounger one, The prezent age of the slder person is -

(a) 25 vears (b} 3G years (€} 45 years {d)' 55 vears

A father said to his son, 1 was as old a5 vou are at present ot the time of your birth.”

If the father's age iz 38 years now, the zon's ape five years back was |

fa) 14 years (B} 18 years (¢} 33 years id) 38 years
{Assistant Grede, 1998)

In 10 vears, A will be twice as old as B was 10 vears ago. If A is now 9 years older

tham B, the present age of B is :

{(a) 10 years (&) 20 years {c} 39 years il 49 years

1
Bneh's age is E'I'.h of her father’s age, Sneh's father's age will be tenee of Vimal’s age

after 10 years. If Vimal's eighth birthday war celebrated two years befors, then what
iz Sneh's prosent age 7

F] Eg FEUrs (B 24 years (e 30 years (dh None of these

If G years are subtracked from the prosent age of Gagan and the remainder is divided
by 18, then the present age of his grandson Anup is oblained. I Anup is8 2 yoars
vounger to Madan whose age is & vears, then what i= GCagan's present age 7

{a) 48 vears (&) 60 years {c} B4 years idl 98 yvears
Ayesha's father was 38 years of age when she was born while her mother was 36 years
ald when her brother four years younges to her was born. What s (he difference
betwesn the ages of her parents 7 (Hotel Management, 2002)
(a) 2 vears (b} 4 vears (g} 6 vears idl 8 years

My brother is 3 years clder to me. My fother was 28 vears of age when my sister was
born while my mother was 36 vears of age when | was born. If my sisler was 4 vears
of age when my brother was born, then, what was the age of my father and mother
reapectively when my brother was born 7

(o) &2 yre, B3 yrs (b 32 yra, 29 yra (e} A5 yre, 29 yra idy 35 yrs, 33 yrs
A person was asked to state his age in vears, His reply was, “Take my age three vears
hence, multiply it by 3 and then subtract three Hmes my age three years ago and you
will know how old [ am.” Whal was the nge of ihe person 7 i5.5.0, 2004)
(a) 18 wears (B} 20 years (e} 24 wears (d} 32 yowrs
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ANSWERS

1. e 2 (& 3 (&) 4. 1b) 5. (a) g, lal T. L&} 8. (e}
Bl 10 (b 1L (M 1B (M 1300 4. (d) 16 {e) o LA (d}
17.4ch. 18 () 189. (d) 20. () 2L (dh 22 (& 28 (@ 24 (d
. {dy D6 (a] ZT. 0 EB. (M 2. (ml 30, 3L (a) I (&)

Let Rahul’s age be x years. Then, Sachin's age = [x - T) years,

-7 7
E—-—--—- m -0 =T @ 2r=868 = x = J1lh
X

Henee, Sachin's age = (x = T) = 245 years.
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138

Let s age and @'s age be Gx years and 7x years respectively
Then, Tx=8Bx= 4 = x=4,
Fequired ratio = (Bx + 4) ! (Tx+ 4} = 24 : 32 = T : &
Let the present ages of P and @ be bx vears and Tx vears respectively
Then, Tx-(fx+Blu 2 o= 2r=8 = x=4,
&  FRequired sum = 5% + 7x = 1Ix = 48 years.
Let the present ages of Arur: and Decpak be 4x years and 3x vears regpectively. Then,
dr+ G =20 e dx =20 &2 X=3
Deepak's age = dx = 15 years.
Let the present ages of X and ¥ be 5x vears and 6x years respectively.

Then fx+7 _& = TiHx+T =66x+T = x=T

"Bxe+T T
L X'z prezent ape = Sy = 35 vears.
Let the present ages of SBameer and Anand be fx yeurs and 4x years respectively
Brtf ol o BB =114+ = 2B
iz + 3 L]
s Anand's prezent age = 4x = 24 yeara
Let the ages of Kunal and Sagar 6 vears ago be 6ix and Gx years -ospectively.
(Gx+6)+4 11
"ifix+Bi+d 10
Sagar's present age = (5x ¢ 6) = 18 years
Laet ihe ages of Jayant, Prem and Saransh 10 years ago be 2x 3x and 4x years
respectively
Then, (2x 4 10} + (3x + 10} =+ ddn - 1N =93 = Hr=G3 = x= 7
Saransh's present age = (4x « 10} = 38 wears.
Let the present ages of the two brothers be x years and 2x years respectively

r=5 1
Then, m= — ¢ 3x-5b={2e-6 =» x=]0
-5 3

Bequired ratic = (x =50 : (2x+ 5] = 15: 35 =3 :
Suppose, the ratio was 3 : 5, X vears ago,

Then, o= =3 « 5(40-x) = 3(60-x) e 2x="" = x=10
Bl-= &

Let the present ages of the father and son be 7x and 3x ,cars respectively.
Then, Txx 3x=756 < 212 -756 < £ =36 = x=6
»  Roequired ratio » (Tx + 6) : (3x + 6l = 48 : 24 =2 : 1.
Let their presenl ages be dx Tx and O years recpoctivaly
Then, (4x— 81 + (Tx—f) +(Ox =8} =56 &= Wa=80 = x=4

Their present ages are 16 years, 25 vears and 36 years respoctively
Lot the prosent ages of the man and his wife be 4x and 3x years respectively.

Then

Then 10(6x+10) = 1S +10) = Sxr=10 & =2

m,%}%.—% o THr+d) =9I rd)l & i=8

So, their present ages are 32 vears and 24 vears respectively.
Buppose they were married z years ago,

d2-z &
Then, —— & —
- 3

e FAZ=2=5(M=-2) & =034 & =12
4 - ;
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14. Let the school ages of Neelam and Shasn be Sr and fx vears respectively. Then,
115_1 ; '
?—:-E— = [%xgzﬁr]z[grﬂx = 18 =18
b :
Thus, Shaan's age cannot be determined.
15. Let the present ages of A and B be 5x and 3x years respectively
Thes, :1:---} o Bid B d v Be g B g
* RBequired ratic = (Sx + 4) : (3x - 4) =24 - B =3 : 1.
16. Let the ages of A and B 10 years ago be x and 2r vears respectively
x+ 10
"2z 410
< Hum of their present ages = (x + 10) + (2x +10) = (3x + 20) = 36 years.
17. Let C% age be x years. Then, B's age « Zx vears. A= age = (2x + 2) vears,
(2% + 2) + 2¥ + x= 2T &5 5x =25 o= x=05
Hence, B'e age = Zx = 10 years.
18. Laet the son's present age be x vears. Then, man's present age = (x + 24} years.
(z+24) +2=Bix+3) = x+26 = 2x+4 = x=23
18. Let the present ages of the father and son be 2x and x years respectively
Then, (Zx - 18) = 3 (x- 18} = x = 386,
Required sum = (Zx + xb = Jx = 108 years.

n% & AEel) = S0 = =10 & x=8

20. Let the mother's present age be x years. Then, the persen's present age = [é:] Years.

o
21. 16 years ago, let T = x years and G = Ex years.
After & yoars from now, T = (x + 16 + &) yoars and G = (8x + 16 + 8) vears.
G Br+ M =3Flxs ) = Sx= 44

[Ex+3]=£—f1‘+ﬂ] - G040 B+ B &S5 1= dD

—+ B
T x+ 8§ aa 11
a e — m --_f" - B e o m—
enade ot Bl ¥ | L P TR
&

22. Let the ages of father and son 10 vears agoe be 3x and x years respectively
Then, (Bx+ 100 + 10 =2 [ix+ 10} + 10] «= 3x+20=2x =40 &= x= 20
S Required ratic = [@x+ 10): {x+ 100 = TD : 30 = 7 : 8.

23. Let the ages of father and son 4 years ago be 3x and x years respectively
Then, {f3x + ) + Al + fix 4 4l + 4l = 64 o dxw dd = x= 12
s Father's present age = 3x = 36 vears,

24. Let the ages of Promila and Sakshi 1 year ago be 4x and x years respectively
Then, [(4x+ L)+ 6l - x+11+ 6l =9 & HGx=0 = x=&
s Regquired ratie = (dx + 1) : {x+ 1} = 13 : &

26. Let the present ages of son and father be x and (80 - x) vears respectively
Then, (60 = 2} -6 =G(x-8) = M-x=8x-30 = Br=fd = x= 14

Son's age after 6 vears = (xr + 6) = 20 years.

2 A+B-B+C)1=12 & A-C= 12

2T. R-Q=R=-T = Q=T Ao, R+T=00 = H+Q =250
S0, (R = @) cannol be determined.
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28. Lat the sum of present ages of the Lwo song be x years.
Then, [ather's present age = Jx years.
(3% + 0) = 2 {x+ 10) e 3Ax+ 5 =2%+ 20 <= ¥= 15
Hence, father's present age = 45 years.
29. Let the ages of father and son be x and (45 — x) years rospectively.
Then, (x -5} (45 —x— 5 =34 o (x-5d0-x0=34 o ©-4Bx+2H=0
& (x=39i{x=-8=0 = x=3Vor x=h.
-~ Pather's age = 38 yeare and son's age = G yoars,
80, Let Rajan's present age be x years, Then, his age at the tme of marriage = (x = 8) years.

;-%[x—ﬂ} w frmBzx-48 = x = {8

Fajan's sister’s age at the time of his marriage = (x = §) = 10 = {x — 18} = 30 years.
Rajan's sister's present age = (30 + B) years = 38 years
81. Let the ages of the children be x (x + 3). (x + 8}, (x + 8) and (x + 12} years.
Then, x + (x + &) + (x + B} + (x4 8) = (x4 12 - 50 o2 bx =M & =l
Age of the youngest child = x = 4 vears.
32 Let Ronit's present age be x yvoars. Then, father's present. age = {x + 3x) years = 4x years,

{1!’*3}'%[:+!] e Br4+if=fr+dl = Bx =2 = =8

(4:'+]'E:'_"|E
(x+18) 24
33. Let their ages be x years and (x + 10) vears respectively.
Then, (x+ 10) —15=2(x- 15} += x-56=2x-30 &= x=15
Present age of the elder person = {x + 10} = 35 years,
34. Lot the son's present age be x years. Then, (- x=x = 2x=38 = x= 13
Son's age 5 years back = (19 — 5} vears = 14 wears.
85. Lot B's prosemt age = x voars. Then, A's present age = (x + 9} years
(x+ W+ 10=2(x—10) & x+19=2x-20 = x= 30
38. Vimal's age after 10 vears = (8 + 2 + 10) vears = 20 years.
Sneh's fathers ape afier 10 years = 40 years. Sneh's fathers present sge — 30 years.

Bneh's age = {%KW}M = 5 years.

Henee, required ratio =

37. Anup's sge = (5 = 2) yoars = 3 years. Let Gagan's age be x years.
:1_:-3- = r-F=0 = x=060
38, Mother's ape when Avesha's brother was born = 36 years.
Father's age when Ayesha's brother was harn = (38 + 4) years = 42 years.
Required difference = {42 — 36) years = § years.
39, Clearly, my brother was born 3 yvears before [ was born and 4 years after my sister
was boro.

Bo, father's age whoen brother was born = (28 4+ 4) years = 32 years;
mother's age when brother was barn = (26 — 3) years = 23 years.
40. Let the present age of the person be x years.
Then, 3ix+ 3 =-Flxz—-F=x & Ax+S=(Ix=9=x = 3= 15

O N D . — — — — — — — — — — N T S —— i — — ————

Then,




(DATA SUFFICIENCY TYPE QUESTIONS)

Directions (Questions 1 fo & : Each of the guestions given below consists of 8
statement and/or a guestion and fwo statements sumbered I and IT given below it. You
have to decide whether the data provided in the stetementis) is/are sufficient fo
answer the question. Read both the statements and

Give answer (a) if the data in Statement I alone are sufficient to answer the
gquesiion, 'while the data in Statement II alone are oot eufficient to answer the guestion;

Give apswer (b) if the data in Statement IT alone are sufficient to answer the
question, while the data in Statement I alone are not sufficient Lo answer the question;

Oive answer () iff the data either io Statement [ or in Statement IT alooe are
sufficient to answer the guestion;

Give answer (d) if the data even in both Ststemenis I and [T together are nol
sulficient to answer the question;

Cifve answer (e) i the data in both Statements | and II together are necessary to
angwer the question.

L' The sum of the ages of P. § and K is 98 years. Whai is the age of 7

I. P is 8 years older than R
II. The total of the ages of Q and B is 56 vears.
2. What is Sonia's present age 7 (Bank PO, 2003)
I, Sonia's present age is five times Decpak’s present age.
II. Five years age hor age war teenly-five bimes Deepak’s mge at that tine,
3. How old i3 C now 7
I. Three years ago, the average of A and B was 18 years
II. With C joining them now, the average becomes 22 vears,
4. What iz Reena’s present age 7 (Bank BO. 2003)
I. Reena's present age ie five times her son's present age.
1. Beona's age two vears henco will be three times her daughter’s age at that time.
5. What is the average age of A and B 7
I. The ratio betweeon onc-fifth of A's age and one-fourth of Bs age is 1 : 2.
Il. The produst af their ages s 20 times B age,
& Average age of employees working in a department is 30 years, In the next vear, ten
workers will retire. What will be the average age in the next vear 7 (L.M.T. 20032)
I. Retirement age is 60 years.
1. There are 50 employees in the department.
T. What i the ratio between the ages of the fther and the son 7
I. The sum of their ages is 60 yoars.
II. 3 tires the sum of their ages is oqual to § times the fathor’s age.
8 Dhvva is twice ag old as Shruti. What iz the difference ia their ages 7
{(Bank FO. 2003)

L Five years hence, the ratio of their ages would be 8 : 5.
I1. Ten years back, the ratio of their ages was 3 : 1.

Directions [(Questions § to 1) : Each of the questions given below congists of a
gueation follewed by three statements. You have to study the question and the statements
and decide which of the statements is/are necessary to answer the question,

P. What iz the present age of A ?
. The sum of the ages of A and B 15 21 vears.
1. The difference of the ages of A and B is 5 years.
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I1I. The produet of the ages of A and B & 104 _}'nu.m

(a) I and 1T only (B 11 and IIT only (el I and LI only
() Any two of the thres igd None of these
10. What is the present age of Tanya ¥ {Bank PO. 3004)
I. The ratic between the present apes of Tanya and her brother Rahul s 3 . 4
respectively

Il. After 5 years Lhe ratio between the ages of Tanya and Rahul will be 4 : 5
I11. Hahwul iz 5 vears older than Tanva.
(a) T and IT only (b 11 amd IT1 only {c) 1 and I only
(d) All L, I and 111 (e) Any two of the three
11. What is the difference beiween the ages of ¥ and X 7
I. The ratio betwesn the agesof X and ¥ 15 2 © 3.
II. Y5 age is 50% more than X% age.
I Ope-fourth of X's age iz equal to cne-sixth of Y5 age.

(&} All T, IT and 111 thl Any two of the thres

(el I, and either | or 11 (d)l Omly I and 11

(¢} Question cannot be answered even with information in all three statements
12. What is Arun's present age T (M.B.A. 2002)

1. Five vears ago, Arun's age was double that of his son's age at that tme.

IL Preseot ages of Arun and his son are in the ratio of 11 : 6 respectively.
M. Five years hence, the respective ratio of Arun’s age and his son’s age will become

1T =00,
(a) Only I and 11 (5% Only 11 and III (¢} Only 1 and III
id} Any two-of the three (el Mone of these
13, What is Ravi’s present age 7 (R.B.I 2002)

I. The present age of Rovi is half of that of his father
1L After 5§ YEATS, the ratio of Rawe's age to that of hs father's ape will be 6 - 11.
[I. Rawvi is & years vounger than hie brother
(g} 1 and 1T only {b¥ 1T and 111 only
(i 1 and II1 only {dh All [, 11 and III
(g Ewan with all the three sratements answer cannot be given.
Directions (Questions 14 to 16) : Each of these questions is followed by three

statements. You have to study the question and all the three statements given to decide
whether any information provided in the statements) is redundant and ceo be

dispensed with while answering the given question.
14. What is the ratio of the present ages of Anna and her mother 7
I The sum of the ages of Anna, her mother and her father is 62,
Il Five years ago, Annas age was one-ffth of her father's age.
I11. Two years ago, the sum of the ages of Anna and her father was 36

{a} I or 11 only (&) T or TIT only () IIT only
{dl 1 or 11 oaly (ed Al L I1 and 111 are sequired.
15. What will be the ratic between ages of Sam and Albert after 5 years 7
{Bank PO. 1995}

I. Sams present age #8 more than Albert's prosent age by 4 yours
II. Alberi’s present age is 20 years,
[11. The ratio ol Albert's present age to Sam's present age is O : 6.



- Quaniitative Aptitude
(&) T or IT or TIT only (&) 11 only (e} I only
{dh I or II only (o IT or HI only
18. What is the differcnce between the present ages of Aynsh and Deepak 7
{8.B.L.LEQ. 1998)
I.Thurlﬁﬂ'bthwcnﬂﬁ}mh':mtag&mdhisﬂﬂmﬂEj"ﬂl‘ﬂiﬁl'ﬁ.
I1. The ratic between the present ages of Avueh and Docpak is 4 : 3.
i.II.'Ihera.tinhatweanDrrpnk'spruantn;amdhinmfmrremmhﬁ:ﬁ.
la} Any two of 1, I and [11 (b} 1 ar 111 only
le) Any one of the thres () All 1, II and III are required
{al Even with all I, IT and III, the answer cannot be obtained.
ANSWERS
L (s} Z (d a. (e 4. i b (sl 6. (& 1. (B} B (s
Bl 10.(d 1L(4 12 (D 13 () 14 & 15 (&) 18 {2
SOLUTIONS
1. Given : P+ Q + R =98 {1}
LP=R+& o ]
I Q+R=56 - Lfii)
On subtracting (i) from (i), we get P = 40.
Pﬂﬁingl}--lll}inlfil'_l,wngﬂH-EI..P’uLﬁngR=3-Iintiiﬂ.wtﬂE‘LQ=EE.
Thus, I and II both tagether give the answer. So, correct answer is (&),
2 L 3=5D -i.ﬂz-gr el B}
L §-5=25(D-5 = §=28D-120 (i}
Using (i} in i), wug@tﬂ=[25:ﬁ%}—lﬂu e 45 =120 & 5= 30,
Thuu.IdeIbuﬂ:mgeﬂwrgiwlhem.Eh.wtmrmiam.
3. I.EJ--:HHED,éMrB}rlB = 3 years ago, (A ©B) = 56
How (A+B)=(368 +3 + 3) =dZ = A+Em=4ql o
n.nm.-;-:mmcm-ﬂ = AsB+C-68 AiD
From 1 and II, we get C - (66 — 42) = 24,
Thus, T and Il both together give the answer. So, correct answer is (gl
4. L Reena's Present age = 5 x (Her son's present age).

II.Rﬂma‘nmﬂnmlﬂm-aumuhe:duughta’utpatthmum

A
]
II. 208 = AB.
Let A's age be 5x years. Then, B's age is 8x years.
WxBrmlxxBx e d0x=160 = y=4
A A=9%and B = 32
ﬁm.lmﬂﬂhﬁhrﬂvéﬂnmnmsmmﬂut-murhteh
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8. I Betircment age is G0 years, ’
1. There are 50 emplovees in the department.
Average age of 50 employees = 30 years.
Total age of 50 employees = (50 x 300 years = 15600 years.
Number of employess pext vear = 40,
Total age of 40 emplovess next vear = (1500 + 40 — 80 = 10) = 840,

1
Average age next year = % yoars = 232* years,
Thusz, | and 11 together give tw answer So, correct answer is (el

T LF+5=80 weli) IL 3(F + 5 =5F LA

From II, we get 2F = 38 o= ;-g

Thue, 11 alone gives the answer, but 1 alone daes not give the answer.
. Correet answer is (3.
8. Let Divya's present age be D years and Shruils preseat age be 5 years.

Then, D=2=x5 & [ -015=0 )
D+«&6 @ 5 D-10 &

y = i) 1. = - ek EEES
B+5 8 =5 510 1 "
From (i), we get 5D + 25 = 95 + 45 o« 5D - 95 =20 wlT¥)
From (i), wepet D= 10 = 35 = 30 & D - 38 = - i} e

Thus fFom () and (7, we get the answer
Alss. from (1) and (o), we get the answer
I alone az well as IT alone gives the answer. Hence, the correct answer 15 (¢).
B. LA+B=21 MmA-B=5 I, AB = 104,
Clearly, any two of three will give the answer. 8o, correct answer is (d).
10. 1 Let the present ages of Tanya and Rahul be 3x years and 4x years.
II. After 5 years, (Tanya's age) : (Rahul's age) = 4 - 5.
III. (Rahuls agel - (Tamya's agel + 3.

dx+ b &
Fro i = - is gi ;
m | and 11 wm‘t“+5 ET‘hJsmm:

* Tanya's age = $x can be found. Thus, [ and [T give the answer.
From I mnd III, we get 4x - 3x + 5. This gives x

Tanya's age = 3x can be found. Thus, | and LI give the answer.
From ITT : Let Tanya's preseni age be ¢ years.
Then, Rahul's presznt age = (£ + §) years.

4 R :
Thl.l.ﬁ,[lﬁpmﬂmﬂ.m.ﬂg-ﬂ'.ﬁng Thie given .

Thus, II and III give the answer.
Correct. answer i {ah

1L IK:?-E:H-%=§=HK-2T.
160 3K
e = = — 3X = Z¥.
i ll.'HZIx 2 =

%xzév = EX =4Y = 3% =9V

Thue, even 1, II and I together do not give the answer.
»  Correct answer is (8.

IIL



